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112/8/11 (A% 7) #m: 4793 2T H (YRR, #2215)
SR R [T HeooHl W H 3l N L I
101 10:30  BE/IhZE  §5Ek(6p) hEE 44 8
102 10:30  E/hZE BbE R 58 8
103 10:30  E/NHE  &E R 38 8
104 10:30 B/NFE  piE IREE 46 8
105 10:30  E/hZE 100 AR THE 65 8 0+8
106 10:55  E/NBEE 100 AR THE 61 7 0+8
107 11:40 B/hcE 100 AR IREE 8 8
108 11:45 B/NFE 100 AR R 8 8
109 13:30  E/hZE &E R 37 8
110 13:30 B/hE phiE IREE 49 8
111 13:30  E/NFHE  #HER(6p) EE 39 8
112 13:30 B/NEE e IREE 37 8
113 13:30 /w60 AR THEE 66 8 0+8
114 13:50 E/NFE 60 AR THEE 67 8 0+8
115 14:15  BE/hZE 200 AR s 55 7 8
116 14:35  BE/NFHE 200 AR s 47 6 8
117 14:55 /w60 AR IREE 8 8
118 15:00 E/NFE 60 AR IREE 8 8
119 15:35 B/NcE 4x100m ) I 22 3 8
120 15:50  E/NHE  4x100m $EE) s 16 2 8
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B S| Ho Al H o H e %l AE ENE
201 10:30 B B4 e (7009) as=s 14 8
202  10:30 e S = REE 15 8
203  10:30 EhE B IR 9 8
204  10:30 EhBEAeE #ER(6Kg) R 10 8
205  10:30 EHELE Z4biE R 6 6
206  10:30 b4 100 AR THE 52 6 0+8
207  10:45 FEhE4E 100 AR THEE 60 7 0+8
208  11:05 g 100 AR THEE 12 2 0+8
209 11:10 =4 100 AR TEEE 20 3 0+8
210 11:20 FEhZE 400 AR THE 36 5 0+8
211  11:30 Sl T2 (6009) HE 6 6
212 11:30 Ehcd ZebiE REE 7 7
213 11:35  EHHE4E 400 AR TEEE 61 8 0+8
214  12:00 St 400 AR THEE 12 2 0+8
215 12:10 =SB4 400 AR THEE 16 2 0+8
216  13:30 =R HEE 12 (8009) R 12 8
217  13:30 HhBEE Pl R 36 8
218  13:30 R84 $HEEk(5kg) REE 23 8
219 13:30 sSHEE BiE T 7 7
220 13:30 FEhZE 100 AR REE 8 8
221  13:35 FEhHEAE 100 AR R 8 8
222 13:40 Ehicd 100 AR REE 8 8
223  13:45 EhE4 100 AR IR 8 8
224  13:50 FEhZE 400 AR REE 8 8
225  13:55 FEhHEE 400 AR R 8 8
226  14:00 St 400 AR REE 8 8
227 14:05 sShE4 400 AR T 8 8
228  14:10 B4 1500 AR TREE 18 8
229  14:20 FEhHE4E 1500 AR sTiR 46 3 8
230 14:30 B R 204 T18(5009) REE 12 8
231 14:40 SR 1500 AR T 7 7
232  14:50 mhE4 1500 AR REE 15 8
233  15:00 EhZE 4x100m 2 THEE 12 2 0+8
234 15:10 B4 4x100m S THE 16 2 0+8
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R R oo Hl HH =gl N HE B
301  09:00 ErhZE #EER(3kg) TR 15 8
302  09:00 il s HEE 29 8
303  09:00 HEhBEAE EeF(1.5kg) as=s 15 8
304  09:00 HhBEE B I 20 8
305  09:30 B4 800 AR THE 25 0+8
306  09:45 FEhHEE 800 AR THE 53 6 0+10
307  10:30 mhE4 #Ei(1.75kg) e 12 8
308 10:30 A §ER(4kg) T 5 5
309  10:30 =hEs Bos I 10 8
310  10:15 e 800 AR THEE 11 2 0+8
311 10:25 shEE 800 AR THE 16 2 0+8
312 10:45 FhiE 200 AR THEE 38 5 0+8
313 11:00 EfEE 200 AR THEE 54 7 0+8
314  11:20 mhE4 200 AR THE 17 3 0+8
315  13:00 Ehzd #et(1kg) T 6 6
316  13:00 ErhZE #EEF(1kg) T 15 8
317 13:00 sShzdE g IREE 13 8
318  13:00 B4 200 AR HEE 8 8
319  13:05 FEhHEE 200 AR I 8 8
320 13:10 mhad 200 AR I 7 7
321 13:15 mhE4 200 AR R 8 8
322 13:20 B4 800 AR I 8 8
323 13:25 Fh54 800 AR HEE 10 8
324  13:30 sl 800 AR R 8 8
325  13:35 ZhEE 800 AR I 8 8
326  14:00 BdhZcd 4x100migEl  RgE 8 8
327  14:05 B BE 4x100miEdy REE 8 8
328  14:10 a4 4x100mfES; g 3 3
329  14:15 =HELE 4x100mBES; REE 7 7



